CBR600 91-6 SSC

CONTENTS:

2 x fixing brackets (marked 1 & 2)
2 X M6 x 16mm Allen bolt

2 X M6 plastic washer

2 x 42" self tapping screw

2 X M6 flat steel washer

2 X rubber edge trim

Fitting instructions:

Remove both seat panels, remove seat (2 x M8 bolts) using ring spanner or socket (* the seat
has an integral spring clip in the plastic base, so push forward on the seat when removing)
Locate bracket 1 between the two moulded ribs on the right hand side of the seat base (see
illustration below) with the bracket held fully seated against the seat base/vinyl cover, drill a
3mm dia hole in the plastic seat base using the hole in the bracket as a guide.

The bracket can now be fixed using the self tapping screw and M6 steel washer provided, the
bracket hole is intentionally oversize to allow some adjustment.

Repeat the above procedure for bracket 2 on the left side of the seat.

NOTE: these two brackets now provide the main fixing for seat cowl and may be left in place
for easy fitting and removal of the seat cowl.

Refit the seat to the machine and replace the seat panels.

The cowl can now be fitted to the seat, bending the rear tag around the back edge of the seat
to prevent movement.

Note: the rubber edge trim should be fitted around the front edge of the seat cowl to prevent
damage to the seat vinyl by the edge of the cowl.

(Ase_ hede . brcies - UA # [ p
A Pllot- to dridd Lvina o -, b




